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> eql:=(x+1)/(x-1)/(xA2+1)A2;
convert(eql,parfrac);
X+ 1
eql:= 2
(x=T1) (x +1)

1 T -x—1 X

J’_— —
Z(X—-[) 2X2+1 (X2+1)
> diff(x*sin(x),x$100);

71OOcos(x)+—xsm(x)
> int(x/(xA2-2*x+1),Xx);
1

|H(X—.|)—ﬁ

> intCarctan(x)/(xA2+1),x=0. .infinity);
1 2
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B fi=unapply(xA2-3*x+5,x);
f:XﬁX?—3X+5

> x0:=5;
a:=subs(x=x0,diff(f(x),x));
x0:=5
a=7

> eql:=y-f(x0)=a*(x-x0);
eql:=y—15=7x—-35

> eq2:=solve(eql,y);
eq2:=-20+7x

> plot([f(x),eq2],x);
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> F2:=unapply(x/(xA2-1*x+4),Xx);
X
F2i=x——F—"
X —x+4

> eq2:=diff(F2(x),x)=0;
solve(eq2,x);
1 x(2x—1)

. Coxrd (XZ—X+4)

-2,2
> plot([F2(x),diff(F2(x),x)]1,x);
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B with(LinearAlgebra):

(3.1)

(3.2)



A:=Matr‘ixc[[2,1)1])[1)291]’[0’071]]);
211
A= 121 4.1
001
:> 1,P:=Eigenvectors(A);
1 -1 -1 1
[p=|11]] O 11 (4.2)
3 1 00
:> MatrixInverse(P).A.P;
100
010 4.3)
003
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[~ normal_dist:=proc(m,s)
local x,i;
x:=0.0:
for i from 1 to 12 do
x:=x+evalf(rand()/10/12);
end do:
X:=x-6.0;
return round((x*s+m));
| end proc:
> n:=500;
suml:=0:
sum2:=0:
listl:=Array(0..100):
for j from 1 to n do
ind:=normal_dist(60,10);
listl[ind]:=1ist1[ind]+1;
suml:=suml+ind;
sum2 :=sum2+indA2;
end do:
n:=500 (5.1)
:> with(plots):
listplot(convert(listl,list));
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:> mean:=evalf(suml/n);
mean:=59.7680000000 (5.2)

:> evalf(sqrt((sum2/n-meanr2)));
9.9350981880 (5.3)

%) TEAHEES VT LICEAT 2B E LTI’ MapleTIRROBESABES LTV
3.

> ind:=round(stats[random,normald[60,10]1](1));

ind:=73 (5.4)



